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7A1H FRINSGHR  [IREE 100 6 600 0 6 600
AN RiE 100 6 600 0 6 600

7H4H FRINZGHR  |IRiE 100 11] 1,100 0 11] 1,100
AN RiE 100 6 600 0 6 600

E—< R 100 2 200 0 2 200

785H AALH5 % 500/ 116 58,000 87/ 43500 29[ 14,500
AALH4 B 400 58| 23,200 9| 3,600 49 19,600

s RiE 100 9 900 9 900 0 0

7H6H FRINGHAHR  |IRE 100 17| 1,700 17] 1,700 0 0
AAH5 Fx 500/ 124 62,000 49 24,500 75| 37,500

AALH4 B 400 39[ 15,600 0 39[ 15,600

s RiE 100 9 900 9 900 0 0

7A7H AAH5 B 500 94| 47,000 31| 15,500 63| 31,500
AAH4 Fx 400 21| 8,400 0 21| 8400

59 RiE 100 10/ 1,000 10/ 1,000 0 0

E—< RiE 100 6 600 6 600 0 0

7H8H FARINSGHR  |IRE 100 18] 1,800 0 18] 1,800
AN RiE 100 4 400 0 4 400

e RiE 100 3 300 0 3 300

7118 |[FRNSHR |IRE 100 25| 2,500 0 25| 2,500
59 RiE 100 10/ 1,000 0 10/ 1,000

4 R 100 4 400 0 4 400

E—< RiE 100 7 700 0 7 700

TSHIT B Eih 200 40[ 8,000 0 40[ 8,000

7128 |RAH5 Fx 500 45 22,500 0 45 22500
AAH4 Fx 400 3] 1,200 0 3] 1,200

59 RiE 100 5 500 0 5 500

4 R 100 4 400 0 4 400

E—< RiE 100 5 500 0 5 500

7138 |[FRNSHR IR 100 25| 2,500 0 25| 2,500
AAH5 B 500 28| 14,000 0 28| 14,000

AN RiE 100 6 600 0 6 600
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FRINGHR IR 100 23 0 23] 2,300
AAH5 Fx 500 64 0 64| 32,000
AA1H4 e 400 5 0 5| 2,000
59 R 100 5 0 5 500
s RiE 100 5 0 5 500
E—< RiE 100 8 0 8 800
FRINGHR IR 100 13 0 13| 1,300
59 RiE 100 5 0 5 500
E—<> R 100 4 0 4 400
59 RiE 100 5 0 5 500
E—<> R 100 5 0 5 500
FRINSHR  [IREE 100 23 0 23] 2,300
b= =) EE 200 22 0 22| 4,400
FARINSGHR  |IRE 100 18 0 18] 1,800
AN RiE 100 3 0 3 300
FARINSGHR  |IRE 100 12 0 12| 1,200
ke S (A3 200 26 0 26/ 5200
59 RiE 100 3 0 3 300
E—<> R 100 4 0 4 400
FARINSGHR IR 100 11 0 11] 1,100
E—<> R 100 5 0 5 500
EAE = N=) = 200 15 0 15 3,000

&t 92,200 249,300




